
Derivation of Field Strengths

1.   For the detection method peak measurements were taken.

2.   Actual readings and corrections:
|-----------+-----------+-----------+-----------+-----------+-----------|
|Frequency  |Peak       |Antenna    |Field at 3 |Correction |Corrected  |
|kHz        |Spectrum   |Factor K   |m          |factor to  |field      |
|           |Analyser   |           |E dBuV/m   |convert    |strength   |
|           |Reading    |           |           |from 3m to |for 300m   |
|           |dBuV       |           |           |300m       |dBuV/m     |
|           |V          |           | Note 1    | Note 2    |           |
|-----------+-----------+-----------+-----------+-----------+-----------|
|133.702    |89.07      |-41.3      |99.27      |-80        |19.27      |
|-----------+-----------+-----------+-----------+-----------+-----------|
|400.48     |44.36      |-41.4      |54.46      |-80        |-25.54     |
|-----------+-----------+-----------+-----------+-----------+-----------|
|667.904    |41.36      |-41.5      |51.36      |-80        |-28.64     |
|-----------+-----------+-----------+-----------+-----------+-----------|
|934.76     |43         |-41.5      |53         |-80        |-27        |
|-----------+-----------+-----------+-----------+-----------+-----------|
|1069       |42         |-41.5      |52         |-80        |-28        |
|-----------+-----------+-----------+-----------+-----------+-----------|
|1203       |40         |-41.5      |50         |-80        |-30        |
|-----------+-----------+-----------+-----------+-----------+-----------|
|1470       |44         |-41.5      |54         |-80        |-26        |
|-----------+-----------+-----------+-----------+-----------+-----------|

Note 1:
               Formula used to obtain field E at 3 m

               E (dBuV/m)  =  V  (dBuV)  + K (dB S/m)   +   51.5

This formula is taken from the National Physical Laboratory calibration report for the antenna
(copied on the following page).

Note 2:

The correction factor of –80dB to convert from field measured at 3m to field at 300m is taken
from 47 CFR 15.31 f (2) (page 661, 10-1-99 edition) which states that an inverse linear
distance extrapolation factor of 40dB/decade can be used. There are 2 decades of distance
from 3m to 300m, therefore the extrapolation factor is –2x40 = -80dB




